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QUESTION 1

What does the term RPO mean?
A. Return Purchase Order

B. Recover Plan Objective

C. Restore Point Objective

D. Recovery Point Objective

Correct Answer: D

QUESTION 2

What is included in every backup job? (Multiple Choice)
A. Cost of Downtime.

B. Retention period.

C. Application that uses the data.

D. Backup type (full, incremental, differential).

Correct Answer: BD

QUESTION 3

Storage Pools cannot be created with a single tier of disks.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 4

It is an electronic device controlled by a motor that moves the hard drive head arm. Which of the following component
fits the above description?

A. Actuator.
B. Spindle,

C. Platter.
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D. Motor.

Correct Answer: A

QUESTION 5

Which of the following are attached to the storage system serially? (Multiple Choice)
A. ATA Drive.

B. SAS Drive.

C. NL-SAS Drive.

D. IDE Drive.

Correct Answer: BC

QUESTION 6

A differential backup holds all changes that were made since the last successful full backup.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 7

The disadvantage of full backup is that it requires the last full backup and the most recent differential backup to fully
restore data.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 8

Which of the following are the supported data storage architecture of modern storage array? (Multiple Choice)
A. File Storage,

B. Object Storage,

C. Block Storage.
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D. Fusion Storage.

Correct Answer: ABC

QUESTION 9

Host is a computing system consisting of hard drives or file system that can provide data access and storage.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 10

Which of the following statements is true? (Multiple Choice)

A. A SAS disk generally has more IOPS than a SATA disk.

B. only SLC SSD are used in Enterprise level systems.

C. the realized transfer speed of SSD is higher than that of SAS.

D. SSD are cheaper than HDD because they are physically much smaller.

Correct Answer: AC

QUESTION 11

Which of the following statements about LAN-based backup is incorrect?

A. Instruction flows are transmitted over the LAN whereas data flows are not.

B. The backup agent affects the performance of application servers.

C. Backup data is based on LANs, affecting network performance.

D. Backup jobs must be separately maintained, complicating management and maintenance.

Correct Answer: A

QUESTION 12
Which of the following are the 3 layers of components that storage systems are made up of? (Multiple Choice)
A. Storage Analysis

B. Storage Solution
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C. Storage Software
D. Storage Hardware

Correct Answer: BCD

QUESTION 13

Big Data refers to the process of collecting/ processing and analyzing vast amount of data and information to gain
valuable insights.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 14

What are components of an ICT infrastructure? (Choose all that apply.)
A. Software

B. Hosts and Servers

C. Backup Devices

D. Network switches

Correct Answer: BCD

QUESTION 15

Multipathing software is only needed in SAN solutions with just a single switch.
A. TRUE

B. FALSE

Correct Answer: B
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